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1. Answer in not more than two sentences (all are compulsory) - (2 Marks each) :—

)

(a
(b)
(c)
(d)
(e)

—

(f)
(9)
(h)
(1)
(i)

What is giving false evidence ?

Give any two exceptions to the offence of Murder.

What is Criminal Conspiracy ?

Write any two common objects of a member of an Unlawful assembly.
What is the maximum period for which a person can be kept under solitary
confinement and in what intervals ?

State any two offences relating to religion.

How and why is the term Electronic Record defined in the IPC ?
An eight year old boy commits theft. Is he punishable ?

What are the cardinal principals of criminal justice ?

What general exception is based on the maxim Volenti non. fit Injuria.

2. Write short notes on (any four) - (56 Marks each) :—

Retributive Theory of Punishment.
Woman.

Jus Neccesitatis.

Dowry Death.

When does Extortion become robbery ?
Housebreaking.

3. Solve any two (with reasons) - (6 Marks each) :-

(a)

Gullu who wishes to go to his native place for vacation cannot procure a
ticket. His friend Rahul who had a ticket cancels his trip and Gullu travels
by train on Rahul's ticket. During the journey Gullu finds @ mobile phong left
behind by somebody and pockets it. At Madgaon station Gullu urinates on
the railway platform. At night he tears off a part of the seat cushion and
uses it as a pillow :

() What are the offences if any committed by Gullu ?

(ii) Cite reasons for your answers.
Jatin enters the house of Mr. Mehra through the bedroom window at 12 midnight.
In the darkness Jatin tries to pry open the safe in the bedroom cupboard.
Mrs. Mehra in the darkness mistakes Jatin for her husband returning home
late for work and invites him over to bed. Jatin has sexual intercourse with
Mrs. Mehra in the darkness. After some time Jatin quietly leaves the house :

(i) Is Jatin Guilty of Rape ?

(i) s Jatin Guilty of any other offence ?
Sheela gets into an argument with Tina in the market. Sheela strikes Tina
with her shopping bag. Tina, who is a housewife, gets swelling on her elbow
and is unable to cook for a month :

() What offence is Sheela guitly of ? Give reason for your answer.

(ii). If the argument due to which Sheela struck Tina began because

Tina called her a cheap and characterless woman, would the answer
be any different ?

4. Answer in detail (any four) - (12 Marks each) -

(a)
(b)

Write a detailed note on the offences relating to marriage.
Does our criminal iaw allow a man to take the law into his own hands and
protect himself when under threat ? What are the provisions in the IPC in
this regard.

Briefly explain with the help of adequate illustrations any three offences
relating to property.

Explain the maxim Actus Non Facit Reum Nisi Mens Sit Rea.

Explain the offence.of Defamation along with the exceptions thereto.
What are the enhanced forms of the offence of rape ? What is your oplnlon
as to awarding compensation or death penalty in rape cases ?
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